List of typos in Abdellaoui, Mohammed, Han Bleichrodt, Olivier I’Haridon, and
Corina Paraschiv, “Is there One Unifying Concept of Utility? An Experimental Test of
Utility under Risk and Utility Over Time.

1. Section 5.2.1, analysis of the pooled data. “Utility for risk and time were clearly
different, both for gains and for losses (paired t-test, p < 0001 in both cases).” This
should be t-test instead of paired-t-test.

2. In Section 5.2.1, individual analysis, in the sentence "Utility under risk and utility
over time were different both for gains and for losses (paired t-test, p < 0.01 in both
tests) and they were uncorrelated. " it should be p < 0.04 in both tests. Moreover, the
proportion of subjects with concave utility was 56% (instead of 62%) and the
proportion of subjects with convex utility 44% (instead of 38%). The proportion of
concave subject was not higher than the proportion of convex subjects (p = 0.23).
Finally, in the last paragraph of Section 5.2.1, it should be p = 0.17 instead of p =
0.19.

3. InFigure 2, the exponents for the utility over time are —0.03 (instead of —0.05) for
gains and —0.10 (instead of —0.20) for losses. As a consequence, the p-value in the test
of equality of utility under risk and utility for time for losses changes from p = 0.64 to
p = 0.59, the mean loss aversion coefficient for time changes from 1.15 to 1.18, and
the p-value of whether the loss aversion coefficient differs from 1 changes from p =
0.02 to p = 0.04.

4. Section 5.2.2, analysis of the pooled data. “For gains, utility differed between risk and
time (paired t-test, p < 0.01).” This should be t-test instead of paired-t-test.

5. Last line of Section 5.2, p = 0.02 (instead of p = 0.04).



. Appendix C. The entries for time in the Paris experiment (last line of the table) should
be: utility gains —0.03 (0.04), utility losses —0.10 (0.03), loss aversion coefficient 1.18
(0.04).
In Appendix D:

a. the interquartile range of w*(%4) = [0.30; 0.47] (instead of [0.30; 0.61])

b. the interquartile range of w*(34) = [0.61; 0.86] (instead of [0.47; 0.86])

c. median w'(34) = 0.71 (instead of 0.64).



